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1. Evaluate the algebraic expression for the given value. (/ ';\ —s( 2) 3 022549 v
- r = r’/‘
x? - 5x+3, forx=7 (?)('?) — $(1)-t 3 4
, (20 R, S /
Whenx=7,¢-ser3=[ | OF g 7
(Simplify your answer.) /' & —+ 3 — Vf
- /
Answer: 17 [7 =) y
AT 3
ID: P.1.7
P
2. Simplify the given algebraic expression. ‘f ( — “l ) d— ( 3 / Sy )
9(2y-9)-(3y+3) /3/ — g, — 7 ) _‘_5

sy-9-@y+3=[ |

Answer: 15y — 84

/sy — 3% < “\_j_

ID: P.1.91
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600n
Use the formula BAC = m where n is the number of drinks consumed and w is the weight of the person.

Using this formula and a calculator, compute the BAC for a 193-pound person for integers fromn = 1 to n = 10. According to
this model, how many drinks can a 193-pound person consume in an hour without exceeding the legal measure of drunk
driving (BAC 2 0.08%)?

Compute the BAC for a 193-pound person for integers from n=1to n = 10.

Number] 7

lof 1 2 3 N 5 6 7
Drinks

BAC 1—_

(Round to three decimal places as needed.)

|

How many drinks can a 193-pound person consume in an hour without exceeding the legal measure of drunk driving, that is

with a BAC of less than 0.08%? 6(1(/}7 F: .:;_ —_'
:(Typeawhole number.) BAC = K/ (0 6N '-;’76 "i) /7 \\
A /(S 2 :
Answers 0.018 LA < < 6 00(‘/ . S e
0.037 /73(0 6(¢)7*167) ;l
0.055 BA ¢ = 290V N\ /
0.073 /(j( LY //Gi) / \& )
0.090 Bhc < 2ygo
o108 173(17.%)
0.126
0.143 E’J C = _ﬁ_Z_y_gu_’ R
' 330 §0. 2
0.160 8
0.178 @4] C (’) 72_ S},._ O S:'/_C,“_ ' ---,.\\
4 *-u_‘___________ . _ bl
ID: P.1.135
4. Simplify the expw7 [ 9; } /) /ﬂru Z 3 T/ 7] NE -

‘V/ﬁ ‘ C / é‘f '_' S Z J

e Uf
(Type an exact answer, using r. tiicals as needed )

Answer: 2,/7

ID: P.3.13
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5. Use radical notation to rewrite the expressmn Simplify, if possible.

343%/3 3) - -
2.
T 7) 3 s 7 -
77 %7
Answer; 49 C;:L—“ ATE -
7 (1) %) C 7 .
L S =
ID: P.3.87 ’] § =
6. Perform the indicated operation. .—_
o,

(6x> - 9x® +9x-5) - (2 -3x® - 3x+5) —

Write the polynomial in standard form.

(6x® -9x® +9x-5) - (2x® - 3x -3x+5)

I

(Type a whole number.)

Answers 4,3 — gx? + 12x - 10

https://xlitemprod.pearsoncmg.com/api/v1/print/math

B, ///?/,J/ // ll) F")/ K7y~

pg Xz
777
G

o

L%

>
What is the degree of the polynomial? 6)( — C;)( 4., ‘}X — - X — AIX

14
= J =L =

3
ID: P.4.11
7. Multiply. ()( p (\) 6( /5 ) =
(x+9)(x +5) " |

2 ¢
(x+9)(x+5)= |:|(Srmpllfyyouransw.er] )( TR T c7 TS

Answer: y2 | 14x + 45

C XY +rvx 7 ¢5 <

ID: P.4.19

8. Find the product.

(Xx=6)(x+4)
LSS N—

Answer: y2 _ oy _ 24

ID: P.4.21
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9. Use the FOIL method to multiply the binomials. (d )(." /) ( j/{ B 3 ) '
(B D) 6L A /OK AU K+ 3§

@x+7)@3x+5)=[ | (Simplify your answer.) -
'L —
C6X" 31 +35

Answer: gx2 4 31x + 35

ID: P.4.23
10. Find the product. ( ' SH’(/:JJ)(T); x;; g)=
(5x - 8)(8x +9) . V RS v 9
e Yoyt 4 FsK—6%AX
=
Answer: 40X2 —10x =72 &90 >( T / o= / (, \\
ID: P.4.25

11. Find the product. | Y S
(x=2)(x +2) ()("“ 55_(2("‘(' 2J)*
(x- 2)(X+2)=|: (Simplify your answer.) )( 1 “(’Z, )( __2 K — -

xv\

Answer: ,2 _ 4

ID: P4.31

12. Multiply using the rule for the square of a binomial.

) (A/f/ /
(x—-10)
O & )("/J)//("/J) E
X L-"'“/OX —J0K /04 =
Answer: 2 - 20x +100

—7 \
ID: P.4.45 @X i _{ ﬁO 0 -
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13. Find the product. ()( r ’7
x+1)° A/f/)(/\/’/f)/)(”(/)‘
x+0P=[ ] X'"”)()( =t fX"f'/ Xt l):
(Simplify your answer.) ( )(f' ” ) ( ')(Z__ £2 X~ ) -
ANSWEI: 30+ 31 + 3x+ 1 )( - le ~t | ;< + (¥t o+ | =

ID: P4.51 C)( *’f 3)(1’ - 2 ﬁ;,c'-/ = _:\

14. Muiltiply using the rule for the product of the sum and dlfference of two terms.

(6x + 5y)(6x — 5y) (6)( —+ {/\’/fé )(,.5—7) =
Gx+Sy@x-sy)= | 76)(1 ——Suxj -+ go,(/ —7 ,—7

Answer: 36,2 _ 25,2 ( 5 6 )( - Z 1y 7 \

ID: P.4.79

15. Factor the greatest common factor from the polynomial. Ch ¢ _&L

24x° + 16x

Select the correct choice below and fill in any answer boxes within your choice.

A 24x2+16x= Z VX - _//6 /( % 7/\/7(’(/ /r/() X4

() B. The polynomial is prime. —— X/__—ﬂ__ _‘__- \ _
p X 7;05 6/00“(

Answer: A. 24x° + 16x = 8x(3x + 2)

A

ID: P5.3 /
16. Factor the given polynomial. " & ()( a8 3 ()(, ?'L ﬂ\
X2 + 10X + 21 ‘/’k

Ch«ck

Select the correct choice below and, if necessary, fill in the- -answer | box within your choice.

: (¥ (x1) <

DA 2 iqox+21=

() B. The polynomial is prime. X'{L — 7K~ 3)(»#' l | -
X 7‘/ oxX 2 / z

( UCW(

Answer: A. x2 +10x+21=| (x+3)(x+7)

ID: P.5.17
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)S ;/ C-
17. Factor the trinomial, or state that the trinomial is prime. ( < T - 3
x> - 4x-32 ((\K‘f' ’T>é<- b /Gr .
C hxfe— 2 (/ 4

Select the correct choice below and fill in any answer boxes within your choice.
( ' C2Y% )( X=0)~

() B. The polynomial is prime. " a/)( - § ((’ e S Z

Answer: A, x2 —4x-32=| (x-8)(x+4) )( (/ )( ,/ Z

) L/\V
ID: P.5.19

18. Factor the given polynomial. < ()( . j) (( G) %6_5,&_4({

x2—9x+18

O A 2 _4x-32=

T helic

Select the correct choice below and, if necessary, fill in the answer | box within your choice.

O A, x2—9x+18= U(X 6 ) <
() B. The polynomial is prime. /\/ — X~ 5( r’/ }7'1':

A
Answer: A, x2-9x+18=_ X

ID: P.5.21

19. Factor the trinomial completely. < (})( _(_ )( )( 3 ) (/3 '/\ C{(—/\\

13x° - 38x - 3

Select the correct choice below and, if necessary, fill in the answer box to compiete your choice.

= ) 2 )=
O A 132 - 38x-3= (Factor completely.) (j /' { I )\[i(_*fs )
() B. The polynomial is prime. /3)(]( - 3 7 X _(,( §< o :5 =

Answer; A. 13x% - 38x -3 = _ (Factor completely.) ; , 1 =
I3 =28X—3

ID: P.5.23 ' __ :3
I 0D 7

.-/.

—
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== r:’//”'f( {

20. Factor the difference of two squares. ( (\. o / (6: + // ((t . {J

21.

7 of 65

100x? - 121y?

Select the correct choice below and fill in any answer boxes within your choice.

/O’)‘(L'_' [Z/ Y T _
(Lo & ()=
O A q00x% - 121y2 = ( “—//uxf /1 u// (/UX——*/! j) z \.:

(O B. The polynomial is prime. = e

Answer: A. 100x% - 121y? = [(10x + 11y)(10x - 11y)|

ID: P.5.43
o 2
Factor completely, or state that the polynomial is prime. 2 ) )< i ()’ X
3 ’ ) . o
2x" = 8x Z‘)(. ( )< B er )

Select the correct choice below and fill in any answer boxes within your choice.

O A 53 _gy= = /x ((K) —_(()) ~
- & z»(()(-*(d)(/‘( &)‘_____\‘

(O B. The polynomial is prime.

Answer: A. 2x° — 8x = [2x(x + 2)(x - 2)

ID: P5.75 _ HU, s [r\_

(Ol = feti ol

7/17/2019, 10:16 AM
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22,

Graph the equationy=x+5. Letx=-3, -2, -1,0, 1, 2,

and 3.

Find the following y-values. Then choose the correct graph

of the equation to the right.

X y
-3
-2
-1
0 e
1 Y = X+5
2 -
; g s
R
Answers 2 _
i y,— —2 5 <
4 9 =~ s
5
6 v = QTrs ~
7 e €
. - = e T
ID: 1.1.15

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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23.
Graph the equation. Letx=~-3, -2, -=1,0, 1, 2, and 3.

y=2x-2

3

Choose the graph on the right that conr?epts the gqgn_t‘s__._h—
Y2t
ya“‘zif;s)i—'c ~ 61 =Y
4 yz ) —r = YT = "—E-,-_
-2 - 2(_,{),.1 - —{ T ~ }/
Y =2 )~ =~ Ot =~1
. ge2(0-rm 2mt= O
2 71 2 (2] ~ = '\,./,-;Z = L |
()L < 67 = Y

Answers -8

ID: 1.1.17

9 of 65 7/17/2019, 10:16 AM



MAI1314FIESTACOREQ14FIN0119jj-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

24,

Find seven ordered pairs to the equation y = 7 - x°. Then Choose the graph that nnects__;he.points.
determine its graph. '

Answers -2 7 < ‘7—' 65) a* 1= ("5,)(*5) - 7'—-(%) < 7*‘ ((‘ = =i

P oy ~FY =T Fk) = 7 (¢)= =y = 5
ST (0T T (D=7~ < &
o ge7—(l= (o= T (@~ 7m0 = ]
-t 7= (00 =T =271 < 6

2

N7 —(R) % T ()G) = T (¥) =774 =
Ng=7- (D=7~ 0 Bl 7 - (= 77~-2

ID:1.1.25‘ | | X /7@;}/0‘4

..j -
2 %
—J| ¢
ozt

f v,

10 of 65 7/17/2019, 10:16 AM



MA1314FIESTACOREQ14FINO0119jj-Alfredo Alvarez

25.
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Use the graph to the right to complete the following. For the y ! b ‘ﬂf ,{
graph, tick marks along the axes represent one unit each. & 1 _int
s
a. Determine the x-intercepts, if any. ’)
b. Determine the y-intercepts, if any. - ( 9 }

a. What is/are the x-intercept(s)? Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

&
Loz

A. The x-intercept(s) is/are

(Type an integer or a simplified fraction. o=

Use a comma to separate answers as - ~ "
needed.) W€ )

B. There is no x-intercept. /)(f‘-“’\ fa. cop F

b. What is/are the y-intercept(s)? Select the correct choi
below and, if necessary, fill in the answer box to complete _ : e

your choice. P Lo = (}{z)

. . =|
A. The y-intercept(s) is/are >
O y-intercept(s) L,)r/,\/,;,,;,ﬂ+ 7
(Type an integer or a simplified fraction.

i ) /
Use a comma to separate answers as @,/ =

needed.)
() B. There is no y-intercept. e

Answers A. The x-intercept(s) is/are III

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

A. The y-intercept(s) is/are |I|

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

ID: 1.1.41

26. Find the value of the variable that satisfies the equation. Check your solution. Answers that are not integers may be left in

11 of 65

fractional form or decimal form.
8x-5=67 '\.\

What is the solution? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
A. The soluionsetis{ ~ }. X( s =67 \ CAC o
B. The solution set is {x | x is a real number}. X bl = 6 7_’76,}',7 IX~5 = (7
C. The solution set is @. ¥ =72 7(6) —5 - § 7|
Answer: A. The solutionsetis {9 | 5}}5_ _ 7T T~ s ~ ¢ |

ID: 1.2.1 /,.f—HZ {7 = (7 |

Q_iﬁf“ C;—-f@ é) (;/( i|l

7/17/2019, 10:16 AM
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27. Solve the equation. Be sure to check your proposed solution by substituting it for the variable in the original equation.

8x - (4x—3)=15 —_— 5 (TX _—,—-9/)(—{- 2 = /5_'

-

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. The solution set is { ; } (/X% ? jras / 'y
() B. The solution set is all real numbers. O 2/‘ 2/'«\ / -
) €. There is no solution. YX ;/ .,
Answer: A. The solution set is ﬂIﬂ’ = / 2

(/#,g
Y — e
ID: 1.2.3 ( j B

28. Solve the linear equation.
6Xx+9=4x+47
What is the solution? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
G XAG — q = X+ YT
. b X+ l
() A. The solution set is { }

i) B. The solution set is {x | x is a real number}. 6 )< - (f )( -f’ 3 e{ \//
() C. The solution set is @. («)( — "—'/)( %’T 3 =

2 38
Answer: A. The solution set is - Z/)i . %

S i
ID: 1.2.7 )( / 1 )
29. Solve the equation. Then determine whether the equation is an identity, a conditional equation, or an inconsistent

equation. . J— <7,,)( — {1/ - G)("?’ //- Z X

4x+18=6(x+3) - 2x

What is the solution? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(A The equation has a single solution. The solution set is { }

() B. The solution setis {x | x is a real number}. ¢y X / d) =y é.f X,——/— ] f
) C. The solution set is @. 3 o 7 o
Xt LFAT =~ XA T
What type of equation is this? .
2R
) A. an identity . v . )
() B. a conditional equation (f)( — ¥ K T~ SL/( - ‘/)<

) €. an inconsistent equation O . 0
/

Answers B. The solution set is {x | x is a real number}. — = ——

C 77L( é)/khq\ S{'L rs thé{ ffr(’”ku:[:\‘

A. an identity

ID: 1.2.61
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30. Solve the equation. Then determine whether the equation is an identity, a conditional equation, or an inconsistent
equation.

N ) Y+~ 6+¥x

4(x+2)=6+4x

What is the solution? Select the correct chaice below and, if necessary, fill in the answer box to complete your choice.

A. The equation has a single solution. The solution set is {

() B. The solution set is {x | x is a real number}. (r')( *ﬁ/X*/ -~ G i V X — (?7
() €. The solution set is &. '

What type of equation is this?

() A. an identity ’
. N ﬂl ¥ ——
(O B. a conditional equation C / ‘? L

() €. aninconsistent equation

Answers C. The solution set is @&.

C. an inconsistent equation /Q/
j.’

ID: 1.2.63

Qél/-( ‘s Mo ._C.:&'-"./-(-A_ B Srapr——

31. Solve the equation. Then determine whether the equation is an identity, a conditional equation, or an inconsistent
equation.

8x+5=2x+5

What is the solution? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The equation has a single solution. The solution set is { } g)( vy = & \C‘—f ),—
() B. The solution set is {x| x is a real number}.

) €. The solution set is &. 'YK ,(—%_yz Z}(”f’/"’/

What type of equation is this?

() A. a conditional equation , - )
() B. an identity 7)( - Z)( — Z//\/""Z)(

() €. an inconsistent equation

Answers A. The equation has a single solution. The solution set is .
A. a conditional equation C}< . CJ_

ID: 1.2.65

13 of 65 7/17/2019, 10:16 AM
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32. Use factoring to solve the quadratic equation. Check by substitution or by using a graphing utility and identifying.

x-intercepts. = C 5< —+ 6) CKAX) o %5‘: ! [1

2 A
X —-2x-48=0 X,r- (, =0 O/L /( ’g:o (fX l \
The solution set is . Z"/‘ 4-:
(Use a comma to separate answers as rieeded Type repeated roots only once.) / Z ) %

(G 6= 0-¢ OK X-f+1=07F
Answer: - 6,8 (X":_H\‘“ O@( X ﬁ\\

ID: 1.5.1

C §>
163

s f L6027 = O e Lo (Posshy
x? =6x +27 . ()< ~+ 37 Q(« 57 - =
et A SO O K Cgro (o
)(fz/@’uo 3 o X’%/;/‘:g.f

nswer: 9, - <‘ )(f_——— 3 > jﬂ Q/_T 67_ )

34. Solve the equation byfactorlng/7 [3)<_ / )/3% —/— 67) _ O
9x% +21x-8=0 3,{ [ = Q o 3/(’7" f—— o

ThesolutionsetiS{:I}'B)(ffﬁ({;-07‘/ CK 3)(—-/'7/3/

(Use a comma to separate answers as needed.)

Answer: 1 8 3/”— / ()£ BXH —'f
7 : 3K < _,z

. = >

35. Use factoring to solve the quadratic equation. Check by substitution or by using a graphing utility and identifying
x-intercepts. S
2 ) 3x(X+ €)= O
3x" +15x=0 ! ,{' ﬂ
The solution set is . BA/ - O O )("f— 3

(Use a comma to separate answers as needed.) <, o 2 ]
=g ot Ktsseo-s
Answer: 0,-5 3 } F NP

ID: 1.5.3
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36. Solve the equation by factoring. /5= X = %‘/ ~¥X “i1 | N
15— 15x = (4x + 1)(x - 1) [S—I5x <~y -3 x —|

Id

z Yyt ~I X~ — S T 77X ,/(?L,r/ll(./

The solution set is « O= Fx < +l2x (G

(Use a comma to separate answers as needed.) ¢‘,,, -
0= F(x 3 —¢) (e
Answer: 1,—4 -0 = C((,( = [)C?("f‘f)
RO O o OR vy =
k. PPl + Ok Kt~y =07

ID: 1.5.13 —
_  X=PD or

37. Solve the equation by the square root property. —
(X -*9) o (/ ; e )
x-6)°=9 = Tt N s
X zwbj c,'.(f X—¢= 3\ ( "/)? 7
What is the solution set? T e s ' I U-) < 9 ’
X—67 4= ~3t6 oK Xc/r/ Jfﬂ)( o T B
_ (Use a comma to separate answers as needed. ; L 7 : Z = { e
A€ /‘f*’)”f
Answer: 3, 9 (_ / l_ o
- J , ,/ )= 9
(;:U‘-J('( UV hs — d
ID: 1.5.21 o« = T il
38. Solve the following equa on-usmg the quadrattcfa[r:nula =7 ’( sl :;
bt /L5 ac \7'
Feox+20=0 N\ . /| % & _i__rl
L4, c=evo ——— \ 2
The)solutlor{ setis .
(Type an exact answer, using radicals as needed. pse a comrna to separate answers as needed. ) "
y=-( VUV TR\ X =6l g X= 15!
Answer: —4,-5 2 ( | / | o7
e = "*/ \é -l
X= Gtz -5 Y___ .0( e B
ID: 1.5.65 Z )(:-—;f-‘f A= =4
B . . — —_— i D -
39. /’46;7 W aht—
Solve for x using the quadratic formula. = }The solution set is ‘
2 /\/ p —-',4 b= -7 4C i " (Type an exact answer, using radicals as needed. Express
| x*-8x+20=0 E " complex numbers in terms of i . Use a comma to separate
=L lg':'-Z; C=ev 5y ———answers.as needed.)
/ (= (=82 D=4 (>
Answer. 4+2i,4-21 (7(‘)

X< § T 6Ff—F5
_ ID: 1.5.73 o= -
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X = 3 U )(
40. Solve the equation by the rnethod of your choice. ’o / S

s/ —~( 3¢ —6 =) _(*—U)’*I/L — &) () -
5x° - 13x= 6 ¥ 5, berl3, cs ) @

The solution set is . )(r / 3 L L//é' j‘__f_//. )_H

- - (%4
(Type an exact answer, using radicals as needed. Use a comma to se;( rate answers as needed.)

Yz(3t/ 257
Answer: 2 - =55
3,-— /0O

X< /3 ~r {7
ID: 1.5.83 - X- L,f_f_if O/ A/f

41. Solve the following equation.

L= xS /m—r27= o
3(x~6x+9)=

3x% - 18x +27=0

The solution set is . i
(Use a comma to separate answers as needed.) 3 ( )( 3) (><.__‘ /5) ey
Answer: 3 K :/L)/ onr )(’* } =& oK X—3% =
| O X-53+870773
ID: 1.5.95
= — ~

o« ,{/ 3

16 of 65 7/17/2019, 10:16 AM



MAI1314FIESTACOREQI14FINO0119jj-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

42. Determine the x-intercepts of the graph of the quadratic. Thfn rnatsh the function with its graph. Each graph is shown in a
[-10, 10, 1] by [- 10, 10, 1] viewing rectangle. bv ‘AW S e 2 -

oy = /L
y=x2-4x—5 .X’ .3(_,_
7 L e o~ 1
Select the correct choice below and fill in any answer boxes within your choice. (‘ o
% n\a,("/d IR fﬂ/ j)
/

(Type an integer or a fraction. Use a comma to separate answers as needed.)

() A. There are no x-intercepts. - o
(1) B. The x-intercept(s) is/are x = ; C— = (/ )< TS

Choose the correct graph below.

O C. ) D.

Answers B. The x-intercept(s) is/are x=| / -1,5
(Type an integer or a fraction. Use a comma tg separate answers as needed.)

'

iy

ID: 1.6.109

43. In around-robin chess tournament, each player is paired with every other player once. The function, shown below, models
the number of chess games, N, that must be played in a round-robin tournament with t chess players. In a round-robin
chess tournament, 36 games were played. I-éow many players entered the tournament?

(_- =4
-t 7 Sé’_ "’;_”C

Nz —* p
2 / I . (6 C) C i"") 5 m«./(*/
How many players entered the tournament? 56 (2 ) Z'
: players (Simplify your answer.]/z - 6 _’ .6 —————
D= €l € 72 w1
Answer: 9 O o ( ,é "7“7) (Qél-— f)\ » .
L ¢ =0 o4 €= | =&

ID: 1.5.131 Cr gteB Of( _ é~ ) on, oty IO
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: ) \
o~/ L X = //O
44. Solve the radical equation. W) (X )) @n\ v <

M=x—5 »;/rp (/*b)(f"' (s = /:—g
(s =& “{‘4('—3.,(—#(, l//’(,,._ (—~ ¢
Select the correct choice below and, if necessary fill in the answer bgx to complete your choice.
Xt/5= X fox+25 F -
() A. The solution set is { } g n&igfw
Use a comma to separate answers as heeded.) p—— —
Q) B. ‘(I'here is no solution.pcp = {L —f i X 2T —X—IX (///0’7‘/ 5 - /0 g
O X”L-Hx»‘r/u Ve = 87
Answer: A. The solution set is +.(Use a comma to sepadrate answers as needed.)
B (X ~/)(»< /o) S
ID: 1.6.13 X*’/ = W INY/

{..-Jf-(rf‘L)(/ On X—/>4/2~ c///o ¢ :
45. Solve the given radical equation. Check i“ proposed solytions. X/f 3 % X7 7% o J —
(U'd;(r 2] = vV \ e, »1, o> O K+S— ede
J2x+22 =x+7 { X' = (/& )(!
2x-+20 = (X Ux+1) \X=2D
Select the correct choice below and if ne ssary, fill in the answer box tocomplete mplete your ct choac( }rn s

2x 2l < xb 4 IxXATPL ‘/‘7 VZC-3) v 22 = B+
) A. The solution set is { ¥ -’\\ tfcr12 = % 8(—,“,):2—2;: 449

(Use a comma to separate answers as n
S T71 =2

tede e T (.

() B. Thereis nosolutaonZ)(r-(gZ - N /Y/("/{/ ﬁ\ {/C/-;G,;(//
Oz X HLYLr %] —L—28 ¢ =~
L= —2

L t-/f >
({f)) 4\)

==

Answer: A. The solutuon set is (Use a comma to-se ara ansmrs-i‘rlee ed.) 5
O« ¥ 11X +27 ( 74
ID:1615 () = ( _(-3)()(-/—‘3(‘) (

46. Find the solution set for the equation.

|x—2|=

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

() A. The solution set is { }
(Simplify your answer. Use a comma to separate answers as needed/

() B. There is no solution.

Answer: A. The solution set is .

(Simplify your answer. Use a comma to separate answers as needed.)

[x-t) =7
ID: 1.6.63 Y2 = ~F 0 X-2= 4

YL+l = 07l 04 X=p¢27T Tre
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47. Use interval notation to express the solution set and graph the solution set on a number line.
2x+4>10

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

() A. The solution set is . (Type your answer using interval notation. )
() B. The solution set is @. —f L///"/ > /\_)—— (/
Choose the correct graph below. - /{ ~
2x > 6
O A ) B.
A ———— et | |
10-8 6 -4 -2 0 2 4 6 8 10 10 -8 -6 4 2 0 2 4 6 8 10
O C. ) D. The solution set is @. X

€t
A -10-86 4202 46 810

ID: 1.7.27

48. Use interval notation to express the solution set and graph the solution set on a number line.
-5x<30 r-—YX

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(O A. The solution set is . (Type your answer using interval nutatmn )

() B. The solution set is @. QLU
ﬁfja{L-L '7L"/l"

Choose the correct graph of the inequality.
grap q Y. («/[(;,_.,--,4“)

) A. ) B.
bttt
-10 -8 6 4 -2 0 2 4 6 8 10 -10 -8 B 4 -2 0 2

O C. () D. The solution set is @.

€|
B. -10-8-6 420 2 4 6 810

ID: 1.7.31
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49. Evaluate the function fo) = X —2x-4 at the given values of the independent variable and simplify.
a. f(-1) b. f(x+5) c. f(-x)

(
oy — ¢
a. f(-1)= I_——] (Simplify your answer.) //‘4 )( ){/
b. f(x+5)= I:’ (Simplify your answer.) /(‘~ () ("'_ [) o z ("‘ (/
c. f(-x)= l:|(S|mpllfy your answer.) /[(,-a (’_ ()( () o L/(__ z)

/(—4) —r:Q o

ID: 2.1.29 ) &

- 7[(7{'?"5 /\ =— o= Olrs)=Lf
/(xﬂ* E é(r-s)(/(«s) ~ (e5) —Y
/(;(M’) ;( zjzsxfzs — i ~/o-—%

fen< 9 i
/(ﬂ/) (—%)/HX) —J (&=

20 of 65 7/17/2019, 10:16 AM



MA1314FIESTACOREQI14FINO119jj-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

50.
Graph the given functions, f and g, in the same rectangular er

coordinate system. Then describe how the graph of g is
related to the graph of f.

fx)= x
g(x)= x+5

Use the graphing tool to graph the functions.

How is the graph of f shifted to get the graph of g?

v >

The graph of g is the graph of f shifted (1)
o[ Junis

(1 O w
() down

Answers

(M up

ID: 2.1.39
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51,
Graph the given functions, f and g, in the same rectangular Ay

coordinate system. Describe how the graph of g is refated to
the graph of f.

f(x) = x2 101
g0)=x>+3

Use the graphing tool to graph the functions.

https://xlitemprod.pearsoncmg.com/api/v1/print/math

vy =

| LI ¥ L T T L J T T T L} T T T
How is the graph of g related to the graph of f? -15 -10 -9 ] 5 10
(O A. The graph of g is the graph of f shifted 3 5
units vertically up. ]

(O B. The graph of g is the graph of f shifted 3

units horizontally right. s

(O €. The graph of g is the graph of f shifted 3

units vertically down.

(O D. The graph of g is the graph of f shifted 3

units horizontally left. ; “/{:‘(/ {'{_ -
f1)= (- /) =) F1) <
) = () Sopa = ©

/(t) () (=1

Answers

Y )
L )~ (O -+
A. The graph of g is the graph of f shifted 3 units vertically up=Y A0) = (0f0)~+3
VO
)= 3

G 1)+ (l)‘z-'f >
G0 =(1/(N—+73
S = [—+ 3
5= Y

ID: 2.1.43
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52.
Graph the given functions, f and g, in the same rectangular Ay

coordinate system. Describe how the graph of g is related to
the graph of f.

f(x) = [x| 10‘:
ax) = |x| +4

Use the graphing tool to graph the functions.

How is the graph of g related to the graph of f?

Ill

-
(8]
-
o

)

(4 hn
-
-
o
-
(441

(O A. The graph of g is the graph of f shifted 4
units horizontally left.

() B. The graph of g is the graph of f shifted 4
units vertically up.

(0 C. The graph of g is the graph of f shifted 4
units horizontally right.

(O D. The graph of g is the graph of f shifted 4 15
units vertically down. x*

L el A

L

Answers

15
Y

B. The graph of g is the graph of f shifted 4 units vertically up. _ ( _

i

mas  set oty
O A

TGN [+
9CI) = (Y
oD =
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53.  Use the graph to determine the following.

a. the function's domain

b. the function's range

c. the x-intercepts, if any

d. the y-intercept, if any

e. the function values, f(0) and f(5).

Assume that the graph of the function
continues its trend beyond the displayed coordinate grid.

a. What is the function's domain?

(Type your answer in interval notation.)

b. What is the function's range?

(Type your answer in interval notation.)

¢. Find the x-intercept(s), if there are any. Select the correct choice below and fill in any answer boxes within your choice.

O A (Type an integer. Use a comma to separate answers as needed.)

¢ &7 B. There is no x-intercept.

d. Find the y-intercept(s), if there are any. Select the correct choice below and fill in any answer boxes within your choice.

A. (Type an integer. Use a comma to separate answers as needed.)

B. There is no y-intercept.

e. Find the values of the function.

floy=| <
f(5) = <

Answers (~ c0,00)

[2,00)

B. There is no x-intercept.

A. ‘Il (Type an integer. Use a comma to separate answers as needed.)
5

4

ID: 2.1.79
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? {
54.  Use the graph to determine " 1‘-;
. 4
(@) open intervals on which the y 0) y 2_‘ A 0\
function is increasing, if any. L(L\ [ “} C X
(b) open intervals on which the 76543 N1 234567
function is decreasing, if any. " %
(c) open intervals on which the ”’ 4"‘
i -6~

function is constant, if any. :
[ ¥

ok

) ‘

(a) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

o a ) —
7 A. The function is increasing on the interval(s) ("“‘/"/ L ) v ( I} U)
(Type your answer in interval notation. Use a comma to separate answers as needed.)

() B. The function is never increasing.
(b) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

S ./"-. ’ 2 / 2l I g
(_"A. The function is decreasing on the interval(s) ( 2 C; "_) % (") s )
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The function is never decreasing.
(c) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The function is constant on the interval(s)
~(Type your answer in interval notation. Use a comma to separate answers as needed.)

{7 B. The function is never constant.”

Answers A. The function is increasing on the interval(s) |( =00, =2),(—-1, 0)]‘
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The function is decreasing on the interval(s) [( -2, -1),(0, oo)}‘
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The function is never constant.

ID:2.2.9

7/17/2019, 10:16 AM
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55.
The graph and equation of the function f are given. f(x) = 2x3 L 3x2 —36x+2
a. Use the graph to find any values at which f has a relative
maximum, and use the equation to calculate the relative _ [ | A .
maximum for each value. { K (( ?Cj t
b. Use the graph to find any values at which f has a relative /H ; 4 E L
minimum, and use the equation to calculate the relative
minimum for each value. / 2 ..-'7 Y )

[-5,5,1] by [-100,100,10] V{

a. Select the correct choice below and, if necessary, fill in the answer boxes to complete your choice. M / /‘
) A. The function f has (a) relative maxima(maximum) at and the relative

maxima(maximum) are(is)
(Use a comma to separate answers as needed )

() B. The function f has no relative maxima.

b. Select the correct choice below and, if necessary, fill in the answer boxes to complete your choice.

(O A. The function f has (a) relative minima(minimum) at and the relative
minima(minimum) are(is)
(Use a comma to separate answers as needed )

(0 B. The function f has no relative minima.

Answers A.
The function f has (a) relative maxima(maximum) at [IJ and the relative maxima(maximum)

are(s) 45|

(Use a comma to separate answers as needed.)

A.
The function f has (a) relative minima(minimum) at [Il and the relative minima(minimum) are(is)

(Use a comma to separate answers as needed.)

VIQP j/‘//’\ c</C/ 2z,

) _('\_/_L"’/U[_\d_f e

_.7—_

mae =5 (m I — =T

\ P =000 pplehic Pex (2 #¢)
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56. Use the graph to find the following. (a) the domain of f

27 of 65

(b) the range of f

o V) (c) the x-intercepts
<« (V! (d) the y-intercept
187 (e) intervals on which f is increasing

(f) intervals on which f is decreasing
(g) intervals on which f is constant

G- (h) the number at which f has a relative minimum
] 2 (i) the relative minimum of f
6 12 () f(-2)
6 o (k) The values of x for which f(x)= -3
(7/ - l)_, () Is f even, odd or neither?

(a) What is the domain of ?

(c) What are the zeros of the function?

The left zero of the function is 3 and the right zero is E

(d) What is the y-intercept?

The y-intercept of the function is .

(e) Over what interval is f increasing?

(Type your answer in interval notation.)

£

(f) Over what interval is f decreasing?

-' (Type your answer in interval notation.)

(9) Over what interval is f constant?

(Type your answer in interval notation.)

(h) What is the number at which f has a relative minimum?

£

il

(i) What is the relative minimum of f?

C

:

() Whatis f( - 2)?

f(-2=[ ZT] |

(k) What are the x-values where f(x) = = 3? The leftmost x-value where f(x) = - 3 is when x =4.

What is the rightmost x-value where f(x) = - 37?

() Is f even, odd, of neither? "

even

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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Answers (- 00,00)
[-4,00)
7
21
(5,00)
(0,5)
(=0,0)

neither

ID: 2.2.33

a. Graph the function.
b. Use your graph to determine the function's range.

57. The domain of the piecewise function is (- co0,00). { x+1 if x<3
f(x)=

x-1 if x=3

a. Choose the correct graph below.

O A. O B.

b. The range of f(x) is |:’ (Type your answer in interval notation.)
\, { 5‘( V>;

%—-/’erjf_ '—'/L

(™ 1 i srephas
: \ ) ) mhniy = ~/2 CQ/C /"A«
: 3 7'——/’1«;)( =[O

(Teoed ~ 2 N@ )7:44

ID: 2.2.47 ” _. H/ X_{ ‘521 ()/;" (/» {(

N y oy £/ _
(Y0 X~(~( X=3) Cly, Crrecg

7/17/2019, 10:16 AM
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58.

59.

29 of 65

f(x + h) - f(x)
h
(({fu) (it ho & r~(x b xe3) ~

Find the difference quotient of f; that is, find

f(x) = X2 — 4x+ 3

f(x + h) - f(x) ’((A)(‘)(‘fl\} '_L({ -94 = 1l %"‘K’l G i (()'( j =
—n - (Simplify your answer.) /,1 i )
)(_Txg e xh tht - y'f—vl. =X X

Answer: 2x+h -4

‘_Z)(L\/(- h —:—-?’/2_ 2/7(.5 —f _ﬁ}—— C/_‘_/’ bl Z)(‘—f‘ /? ——\/“\}._
A 4 _ >

ID: 2.2.61 h b

,h#0, for the following function. Be sure to simplify.

https://xlitemprod.pearsoncmg.com/api/v1/print/math

Find the slope of the line passing through the pair of points or state that the slope is undefined. Then indicate whether the

line through the points rises, falls, is horizontal, or is vertical.
(7,-4) and (4,8)

Select the correct choice below and fill in the answer box within your choice.

() A. The slope is . (Simplify your answer.)
(" B. The slope is undefined.

Indicate whether the line through the points rises, falls, is horizontal, or is vertical.

i_)  Theline is horizontal.

() The line is vertical.

() The line rises from left to right.
() The line falls from left to right.

Answers A. The slope is . (Simplify your answer.)
The line falls from left to right. S/\)/‘/L/

{
ID: 2.3.7 L <7 "L() "/"“/(V //
f«/ O R )
(7‘) /a’/
(7/,

27—
- &
e —~f ‘H““»‘I
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60. Write the point-slope form of the line's equation satlsfymg the gwen conditions. Then use the point—s[ape f%'n of the
equation to write the slope-intercept form of the e uatlon -

Slope =5, passing througl;’(6 ,2) (&) - S,(X/ ( ) )
What is the point-slope form of the efquation of the Ilne(? 7 —7 = 5,( )(”6/ \.! /i

] =T TR - 35

(Simplify your answer. Use integers or fractions for any numbers in the equation.)
§X ~307rT

What is the slope-intercept form of the equation of the line? j A %{ /Z/

] ()= sx -2 7 _\\C

(Simplify your answer. Use integers or fractions for any numbers in the equation.)

Answers y—2=5(x-6)

y=5x-28
ID: 2.3.11
61. Use the given conditions to write an equation for the line in point-slope form and slope—mtercept form. . B
. S, - o
Passing through (-4, - 9) and (1,6) (‘ ‘j \/‘ = |l 8 6/ 2 )

.Y 2. ~
What is the equation o{‘ the fine in point—sf'ope form? "/

— g (- f,:,{%f? G )

(Simplify your answer. Use integers or fractions for any numbers in the equation

! =
— } - i 7=
What is the equation of the line in slope-intercept form? 9 ~f ﬁ = _;"'/_ [)( -t ((/
= - %
[ ] Y9 Ll )
(Simplify your answer. Use integers or fractions for any numbers in the ngat[on } e

' \ ) -
Answers y + 9=3(x +4) \) = 63 -~ 3( )( / (/) _f_f-’?-_"/

y=3x+3 773 ')(F-//l
At LA T LXA+1T —1

T3+ 3 N

ID: 2.3.29
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62. =
Use the graph of y = f(x) to graph the function g(x) =f(x - 1).  Choose the correct graphof g below.—

y = f(x)
Ay ) A.
6
Ay
] ‘
ch 4 ]
O ] x
] e
) -6 1 6 !
&) a——s x : ,
T T 1 T T > -5
6 4 -2 2 4 6
2 Oec.
Ay
- str
6 - x
(AABRRFRERE S o
& 1 6
o

ID: 2.5.3 - ﬁ(y’)_:? )/(/;‘ /)
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63.

Use the graph of y = f(x) to graph the function g(x) = f(x) + 3. Chﬁb‘se‘{lle correct graph of g below.

y = f(x)
4}3;
&

OL \) >ﬁfA' 6 Y, 2
( ~4p) 2—:

OB.

32 0f 65 7/17/2019, 10:16 AM
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64.
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65.
Use the graph of y = f(x) to graph the function C/hogg the correct graph of g below.
g(x)=f(x—4)+1. TN

rd

y =f(x) *\ O B.

Ay
o

)= (1_. =
s Y\ )

ID: 2.5.21

- - f/(// )(.”___c/) —F{ i
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66. Begin by graphing the absolute value function, f(x) = |x| Then use transformations of this graph to graph the given
function.

h(x) = |x - 4]

What transformations are needed in order to obtain the graph of h(x) from the graph of f(x)? Select all that apply.

[] A. Reflection about the x-axis
[] B. Reflection about the y-axis
[] €. Vertical stretch/shrink

[] D. Horizontal translation

[] E. Horizontal stretch/shrink
[J . Vertical translation

Choose the correct graph of h(x) = |x — 4| below.

ID: 2.5.83

,
.
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67. Begin by graphing the absolute value function, f(x) = |x| Then use transformations of this graph to graph the given

function.
h(x) = [x+3] - . N
S w L/\C!(‘ u_dl)) \\
What transformations are needed in order to obtain the graph of h(x) from the grarh of f(x)? Select all that apply.
Y~ —~—/ 1 U5« ﬁ‘/‘ A
[] A. Horizontal stretch/shrink ¢ & s bt
—_—— XM = /= \
MHorlzontal translatlon / / yZ c 4 )
= ‘éd/}g g P |
Je. Vertlcal stretch/shrink \j,—--hq vy T D < 7 /
[J D. Reflection about the x-axis p
. : \ t"} VL\“}( / ————— )
[] E. Reflection about the y-axis i \2_____ E———— ‘\
. e - R - A 2
Y€ Verticl ransiaon g caks (x-+3) 6 )

Choose the correct graph of h(x) below. —— —

7, = = aby (X453 )=—C
574/ Lﬁ( SYBZ

/

S b
/
*_‘0; ™ ,———-’(a

ID: 2.5.85

68. Find the domain of the function. «’luF /{f)d < l/éf’/ -5.,)<

f(x) = 4/20 - 5x A ( J— &-)< ; O
What is the domain of f? 2ol — Sf)(’_g o>=¢—0 O

I:’ (Type your answer in interval notation. )

Answer: (- 00,4]

ID: 2.6.23
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69. f
First find f+ g, f~ g, fg and E Then determine the domain for each function.

f(x)=6x-3, g(x)=x+2

(f+a)x) = I: (Simplify your answer.)

What is the domain of f+ g? ’?’d r/-.:’t"‘// %

O (=00,00) ((’9/( 5) (X}’()L

o (_001 OX=D L4~ __

O B @ o= oz )

O (1 €
(7]

f-gx)= [———I (Simplify your answer.)

What is the domain of f— g? 4)(/ ——a

O (1,00) G(} == g( L)~

O (-00,00) ( . ) M=

O [0,00)

GXx—2% X—¢ > - .
O (-0, 1)U(1,00) ( fX"' '@ﬂ\< C(L Ji/h & K ,‘/; .2 / -
do=[ ] ol
What is the domain of fg? ﬂjf/\// <

O o) 4 - 56<)

8 E:::io)Z)U(—Z,oo) é‘(’f)Z& 2)

O [-mi)ufte] O€Ctl2x ~IX €5
(f}(x)_:@;;'m NT Q\AL\__—C()(/ )(”)

f
What is the domain of E?

(=00, 2)U(-2,00)
(=2,00)

(= 00,00) _ i
[0,00) T T—

ONORONS:
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Answers 7x — 1
(= 00,00)
5x-5
(= 00,00)
6x2+9x—6
(= 00,00)

6x—-3
X+2

(=00, = 2)U(—-2,00)

ID: 2.6.31
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70.

39 of 65

f
First find f+g, f— g, fg and 5 Then determine the domain for each function.

f(x)=3x2—11x—42, g(x)=x-6

A+ 50
(f+g)(x)=|:](8implify your answer.) ﬁ/’# &

: L___. — 3 N G) =
What is the domain of f+ g? (3/( “/(' YZ-)"‘f (/(
| 3 11X~ 1X—6 =
Q ( 24 ] : G A S

-5 3/( &yl OX—V{__::/!
O [0,0) e _ J__
- 00,00 ;’ - B ) -)
= ([-;_)ﬁ]u(-ﬁoo] <€lf . (o2 ap)
T 5"
/;d <)

(f-g)x)= [:](Slmphfyyouranswe? £ = \(Z} 2 (X’ ()

What is the domain of f—g? —

O (o) e S S

O 2l
OB Gxt e 3e s

O 0,00 &ore~ (g ) >
° i o
2

/6(7 ¢ j/x’/ =

(fa)(x) = | = ﬁ/l)(»*&‘?) C(-*G

What is the domain of fg?

O (-w.00) 2K ’/ixlr—( lx_tﬁA *YZK f 25é~<
Q (‘00,—3)U(—3,oo)@ : Z )

O (- 0,6)U(6,0) __/c.f 3\/)( —+ 05

O (-3,0) S )( :t/—‘

SSomes (=92

{é] (x)= [: (Simplify your answer.) 7[()(/ .
&)

3¢ -y

f
What is the domain of E?

) [0,00)
) (-00,00) /i/"_ (J

O (- 00,6)U(6,00) (3_7_( +7)0<___ 6)

0 (8,00)

7/17/2019, 10:16 AM
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Answers 3,2 _ {0y - 48
(= 00,00)
3x? - 12x- 36
(= 00,00)
3x3 - 20x° + 24x + 252
(= 00,00)
x+7
(- 00,6)U(6,00)

ID: 2.6.35

71. Forf(x) = 5x and g(x) = x + 9, find the following functions.
a. (fo g)(x); b. (g o f)(x): ¢. (fo g)(3); d. (g o f)(3)

afog=[ | (/;»;)%)

(Simplify your answer.) /(5(%)) -

e ) (r1)

(Simplify your answer.)
c.fog@®= | fr(ifhi)% /
d. (o) =] | A=)
(G0 F)x) ~
Answers 5x +45 j ( ./{;/,)) -

5x+9 >
60 y( Cx ) E
2 () +9 =

e e — 0\
ID: 2.6.51 (3’;(‘,‘/171

— B

ol - sore
Fas5)(B) = S(Y)Trs
(L)) 5495
/{_‘; 5)( 3) = @f./’
Gol I =539
1)) = $C3)-+# 9
%mwlﬂqq v/

G0 (>) = YD
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72. For f(x)=x+3 and g(x) = 5x + 2, find the following funct/iﬁéé;/(?:‘}’/ﬁ() 5 /%()9)()(/ < St
a. (fog)(X); b. (gof(x);c. Fog)(—2);d.(gof)(-2) / (,fs/)/z /([0 f)(*‘() " S_/'-/) o
a. (fog)(x)= |:| (Simplify your answer_rj'. (53('(( )= /

b. (g o f)(x)= :’ (Simplify your answer.)g Q 7 5
o STl

c.fog)(-2=[ | Ex _ST:H"// | .
d@on(-2=[ | 6()1( ,d":_'"ﬂ/ QO{,}’X 5)(7/7 /
G fxi) - (99F) o) < SC-20 1
Answers 5x +5 _
5x+17 ..j()(‘f?.)z )[*Z/F 7V f/7/
-5 . 5’(/.(,,3).(— 2 < ﬁd m /
‘ /) (st ©

ID: 2.6.53 @ A/

73. For f(x)=1-xand g(x) = 3x2 +x + 2, find the following functions.

a. (fo g)(x); b. (g o f(x): c. (fo g)(3); d. (g 2 H)(3)

2 Gog=| ] (/va -

(Simplify your answer.)

Los)(3)e 3(3)C— () -
= =3(B)3) —(3)- /
- A 5¢)) - Log) ()= =5 B
?Slrﬁ)hf?iciur% %j{t -+ }(Lf‘ﬂ): (5//;/ - ”27 — 3 /
e too@= ] | —(3"X+1)= (A)j)(ﬁ) = 3|

Answers _ 3,2 _y _ 4

GHIK) = 20 & 7016

(GdE(3) < 33t ~ 703 ¢
12 ](‘ x) @d()(’é) 202)c3) —/(3) 46

2659 3 ([~ )C) —f—(/ —X)+2 = édf)(j) 272/+£

j(/-')()((-,)() —r(l—)z)—fg_ -
I = ottt X ) (=) + 2= @m‘)@), /2 4/
3([ ”Z—X—f')((‘) ~+ ((-—x’)-—f—éf.t:

% iy Py {F)(*'/Z, -
S 6T
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74. The function f(x) = 7x + 4 is one-to-one. g‘CA_ ) / X~ > 4 .
/:/1/(/ L,fc./'(a.{y(

Sulur Lior .

- L%
Find an equation for f 1(x), the inverse function. )( = / ) T

el X =% = Tyww=¥

(Type an expression for the inverse. Use integers or fractions for any numbers in the expressnon )

| X—% = 7%
Answer: x—4
7 Ad - T

.—/ _.7

ID: 2.7.15 7 S
o =) e
R ——

75. Find the distance between the pair of points. C‘ [/(4/ "’\/L) 7//(,, ._vIL/ C
9,1 B
B A = NE —(@) A (7] ~(rDC

The dlstance{bet‘;le{én the points is [:| unlts /-3 q) 1 _+( e /f)

(Round to two decimal places as needed.)
= é) + 7))t

| d<
| d = L/ F6¥6y — |/
ID: 2.8.1 __df: W '( /J _ué/}”té/

76. Find the midpoint of the line segment with the given endpoints. ) j y
9 dhen sty /wﬁm/ (//ﬁé L 3
2

(6,2) and (4,8) 3 __

(Type an ordered pair.)

X
Thel m:@poirit/}af iﬁeté’egment is : Pl u//;{_. - - //giiw [2//_127/ /
2 TR

Answer: (5,5) - - 6 ey Z_( Y

ID: 2.8.19
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77.
Complete the square and write the equation of the circle in er
standard form. Then determine the center and radius of the 104
circle to graph the equation. B—.
% +y? +10x+ 4y +28=0 g

XL /d)(,.rvi ~+ ¥Y T —747 2
7 The equatior) in standard erm is |:
(Simplify your answer.)

L e

X lox /W —ry vy /f/sf)): -2 f/f//v)) - z(cf,
f/O/—f(f) i fv/ +H)s 2Tt -
e f‘/d/ffrrj by fETEEY LT -105 [{Wh‘/

(}/*f\)@@fs ) =f (“7~fz)(7-,fg)g [ &

Answers (y 5) +(y+ 2)

A
r "|-|..

o
=
o
oo
—
o

r

e (/;w) -//jf() /

CConds (LT3N N ¢

/ ]
K o
-10-

ID: 2.8.53

78. In the following exercise, find the coordinates of the vertex for the parabola defined by _;he giveq quadratic function.
" ] = . l‘.-" /
f(x)=—4(x+2)2+6 /{,4 '&"”cf(/(jf?)c—fc f / /M{"’/
movstexs [ (e meteeis 1°_ Y (D ~ &(X ré) <
VLey < ( "‘2 4 ) \) \ '

Answer: (- 2,6)

ID: 3.1.11
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79. In the following exercise, find the coordinates of the vertex for the parabola deﬁned by the given quadratic functloﬁ

/ U /}"k‘,/
#' l/"’/")x _

4 )

f(x) = 4x% - 16x+ 6

The vertex is [:l (Type an ordered pair.) [

Answer: (2,-10)

/Q:Laﬁ;ﬂx¢@

a.,v =76, ~ 6

Verkey - zz\ 7/( 3 >)
vl ( ,""—Q /(,Cﬂ)—)

ID: 3.1.13

2() o a4)
_ 4 .
V//J_-Fy\__ &= ( ,f.%—“: /(él/)
J _

e < (2, F&)

VWL(;{ _ /z c/(z)é —/6(2)+6)
o (2, g (1)) — (427 6/
o [ LA A

Vecdey =02, 9 (4)—/6(2+6)
> B G—32+¢)
Ve i =(2, / ’

L/’:”/ Z’)Q _ /2} —= 6-1"()

=t2, /)
[/“//L%( ((Z/ ) T
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80.
Use the vertex and intercepts to sketch the graph of the Ay
quadratic function. Give the equation of the parabola's axis 104
of symmetry. Use the graph to determine the domain and 8_'
range of the function. ]
2 6
fx)=(x-3)" -1 g
=
Use the graphing tool to graph the function. Use the vertex 2+
and one of the intercepts when drawing the graph. 1 X
The axis of symmetry is : 40 8 6 4 2 | 2 4 6 & 10
(Type an equation. Simplify your answer.) -2
The domain of the function is ]: il
(Type your answer in interval notation.) .
The range of the function is [:] -6+
(Type your answer in interval notation.) : 3-
10~
[ s U
Answers v; e [

A

A - A yw
x=3 . N
( ) )( _ptivy — —/ L\
- 00,00 = . \
[-1,00) X— Max - It

G Phiig =

ID: 3.1.17 9 =P16x ~ /o
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Use the vertex and intercepts to sketch the graph of the
quadratic function. Give the equation of the parabola's axis
of symmetry. Use the graph to determine the function's
domain and range.

f(x) = x> —6x+5

Use the graphing tool to graph the equation. Use the vertex
and one of the intercepts when drawing the graph.

The axis of symmetry is l:l

(Type an equation.)

The domainoffis| |

(Type your answer in interval notation.)

The range of fis [:,

(Type your answer in interval notation.)

Answers Ay

(%)

https://xlitemprod.pearsoncmg.com/api/v1/print/math

AY

4
. (3} - ;r)
‘8_‘ ' \/#r L(o\
=10~ /o’?? ;K)
x=3 /k«,’ U (_’_‘,_.(U w S
(= 00,00) . —
it Mg~ —[7
—ex < [ L
ID: 3.1.27 )(
7 i e
Y- Picy /(Y
\\\\ B

6 8 10

0) X-mlies

U

L e

T 1

10

A-
o
o
.
o
o

¢
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82.

Use the vertex and intercepts to sketch the graph of the Ay

quadratic function. Give the equation of the parabola's axis 18

of symmetry. Use the graph to determine the domain and 16

range of the function. 14

f(x) = dx - x° + 12 12

104

8_

Use the graphing tool to graph the equation. Use the vertex )
and one of the intercepts to draw the graph. G*_

The axis of symmetry is [:’ ]

(Type an equation.)

The domain of the function is : 10 8 6 -|4 ) 2 '_2_- ' ' ' i 10

(Type your answer in interval notation.)

v >

ro
.
o
oo

4]
The range of the function is |:’ -6:
(Type your answer in interval notation.) il & '7‘— 1
I #
\/'(/L‘ % A

Answers ( 2, ) lC)

+
Lo A
JN
‘_/) ~
|~/\Ls¢.{9 (F’Z/ V) (G) d)e("’“O/“/j >
)(/ 10 B8 B 4 —>

"8 10 -
ASt 57 efh

; (,( CA v

i f'«:—r———(‘ —2—————
-1.0] (’7 _”.- Y- X 1 /’L*
- L et

ID: 3.1.31 )
\/) Pty —f 2

Y=y =/

- /'

-
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/’fa l l ) 2
83. Consider the function f(x)= -2x% +20x - 9. ( j '/{' o O'J s Ce Lo = ”"ld)<
a. Determine, without graphing, whether the function has a minimum value ora maxm;[;'n \_/aTu-ej : f-[\
b. Find the minimum or maximum value and determine where it occurs. \
c. ldentify the function's domain and its range. / f,--’
w =~ X ‘oK — ‘) /
/
a. The function has a (1) value. QA ~— Z 19 ZQ C# e

b. The minimum/maximum value is |:| It occurs at x= [:’ j

c. The domain of fis :’ (Type your answer in interval notation.)

The range of f is : (Type your answer II"I interval n tatlon )

,r —
(1) © maximum /Ma( bl ( (}:‘
() minimum " Y _CZ° (ék j
( 2¢) /(,( 2)

www/')

Answers (1) maximum

41 = -z./ /(4{; - /S>
° /Q /(;)) o (;‘ ?‘/)
e /;’ —2 ()2 )

(- 00,41]
<(t; —2(s)5) —rz/i/*j %@4)(

ID: 3.1.41 (5, (21) Tzzu/f)—-‘?

84. Write the equation of the following parabola in standard form. ~s'f ) /r "f_f i

A fx) = (x-5)2 =1

s
) B. f(x)=—%(x+5)2—1 7 = /%(] < a(/‘g‘—f‘f) ; I

O f(x)=%(X+5)2+1 b Sy 7 /A ()(“/3 ) Z —/

- 1 2
() D. f(x)=3(x+5) -1

Answer: 1 - (\ ~ é\ /6)( ~/// /Z

D. ()= 3 (x+ 5)% -1

ID: 3.1.97 /

— =30 &—1 e~
[l ~( = 364~ "/// 21 <4 )

m———— )
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85. Divide usin@iﬁié@ﬁ'l ll)/“(’ q)( L ?,{f( -~

<) |

(x3 +9x? - 9x+2) +(x-3) 3 = ‘
(X3+9X2_9X+2)+(X_3)=[:|+X—_:3_ J 1 27

(Simplify your answers. Do not factor. Use integers or fractions for any numbers irzh}é(presyns.) _/ 3 .
p —— = e ' A = =
Answers 2 4 {2y + 27 — Z/r ¢ 4

83 C(Z)(*T‘ 27 =
ID: 3.3.21

86. solve the equation\x3 +2x% -5x-6=0 given Lh’ft 2/|sa} zero of f(x) = X2 +2x% - 5x - 6. o< { -‘\)

— '__SL;/ y'.l— /: (:—’ { L
The solution set is Use a comma to separate answers as needed.)

Answer: 2,-1,-3 j é}/ [ — 5 -~ G

ID: 3.3.43 - /. J 6

__ é[ vidie—q -~

e N

N
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&5, bl
87. The following function is given. o . s i
L W
‘—-—-—"57_'_‘-——‘
f(x) = 3x° - 7x% = 75x + 175 v S,
- g
a. List all rational zeros that are possible according to the Rational Zero Theorem. Choose the correct answer below.
.._.!f. ( 7 \»—
A A 1 3 1 3 1 3 1 3 1 3 =
SR RS Tt St o T T R e s E Ts o+ 2

T 1 5 25 7 35_ 7N -

&b g2 p el oS5, O O, T 3120, TS t7T7 )

e $1,45£25,47,£35, 4175, £ 5 2 5 2k gk kT (f‘(%/ 'C})/t&\/ / 7/ /
3

() eC. 1 1 3 1 3 1 3 1 3 1 3\
A T Tt T e e byt vt I T =

D t 6§ 10 7 35 175
G - :I:1,.‘.:5,t10,:t7,:|:35,i175,:|:3,:|:3,d: 3 ,:1:3,:|: 3 x 3

.,

b. Use synthetic division to test several possible rational zeros in ord Jdentify one-actual zero ) ““‘““\,‘
¥ + il
One rational zero of the given function is l:] | / 7 N ;i & ; r/ &'l 7 }
(Simplify your answer.) / . 7 ﬁ,-gj'.’ '
S -
c. Use the zero from part (b) to find all the zeros of the polynomial g

e
s

An{trersB N e g 3—;‘175'1 5 25 7 3 175 =
_i 5 /7, t :i:3, 3,:|:3,:I:3,:i:3,:l: 3 /

u jf 5 71/»#4 xlm J((ﬂ)(,;

5,-5 ///7 Q

§ -~ -75 17 -.
/j": — G L -

w|lN W~
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88. The following equation is given.

| x®-5x° -4x+20=0

a. List all rational roots that are possible according to the Rational Zero Theorem.

[ ]

(Use a comma to separate answers as needed.)

S
b

b. Use synthetic division to test several possible rational roots in order to identify one actual root. A

\
One rational root of the given equation is [: /;,/» 5 Sy [7 (,/

(Simplify your answer.)
/ ¢ S -/—
c. Use the root from part (b.) and solve the equation. x ’ =
/4“5,/-

The solution set of x3 - 5x2 -4x+20=0is .

(Simplify your answer. Type an exact answer, using radicals as needed. Use in ewf[gpﬁohs for any numbers in the
expression. Use a comma to separate answers as needed.)

R - T lo

J(ﬁé;v;rs 1,-12,-2,20,-20,5,-510,- 104, -4 ) 7
_ = Fruy po S ELAE
tey) o T Gty Ty

£

—

— [ x5

_;__-f-"'j/ L
~—7 2o
” G — 2

T @
: TV~

ID: 3.4.17 U D¢ ) 5__7”.//}4__[‘ ‘;J_f_h.., e, —
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89. An incomplete graph of the polynomial function f(x) = - x> - x% +10x- 8 is
shown on the right.
a. Find all zeros of the function. . ; : :
b. Without using a graphing utility, draw a complete graph of the function. \—/

[-5,0, 1] by [-30, 35, 5]

™

a. The zeros are I:|

(Use a comma to separate answers as needed.)

b. Choose the correct graph of the function below. The scale for each graph is [- 10, 10, 1] by [- 60, 65, 5].

N

65

AU
'ul, : b o U j( a7 )/A/ C /C\.\ L[.J

2 At 105 )

A BIG-

ID: 3.4.53

90. Find vertlcal asymptot\§ if any, and the values of x correspondlng to holes, if any, of the graph of the rational function.

)= s g’@}/&n«k ﬁu/ oy Q4 /s

Select the correct choice below and, if necessary, fi fII in the answe?;box to complete your choice. (Type an equation. Use a

comma to separate answers as needed.) - ) .
X (X+§) <

(L) A. There are no vertical asymptotes but there is(are) hole(s) corresponding to J("I- w - o1 )( y s‘ =T
() B. The vertical asymptote(s) is(are) . There are no holes. ,{//U 0 1 X-fo ) >
- - Yl S e
() C. The vertical asymptote(s) is(are) and hole(s) corresponding to s
i) D. There are no discontinuities. ( =
) NS
Answer: B. The vertical asymptote(s) is(are) _ There are no h — T:;* ™

‘ ol @,
ID: 3.5.23 bﬂq/%#cyl/ <257;ﬁ%¢9ﬁ1 f{:#!//
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91. Find t(e honzontal asymptote if any, of the graph of the rational function. _/ (?EJ_!’ _ Lﬂ
[ 9 [ s M el
f) = — /1 i o fi lap? s ¢t £
5" +8 (3 po $x'Ys 7 "z A~ 00 X _fx_t ){...,/',}(, it
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. O
(O A. The horizontal asymptote is . (Type an equation.) o

() B. There is no horizontal asymptote. e

Answer: A. The horizontal asymptote is _ (Type an equation.)

o 3
ID: 3.5.37 (f [ %e

X—=>4e

92. Find the(fg’_drizontal asymptote,_i‘fféhy, of the graph of the ratior}al function. / })7/ {
. 7 . e i
18x2 < / X [/Z = /l.‘na _____)(2
9 =— /rv = S
I (x4 7 Ko XU~ &
—= X
Select the correct choice below and, if necessary, fill in the answer box to complete f;éur choice.
() A. The horizontal asymptote is . (Type an equation.) ,( /‘TV'/L/] ) (/*___( _Z
() B. There is no horizontal asymptote. = AL
Y.
=2 <
Answer: A. The horizontal asymptote is [E (Type an equation.) ff 7 O
' L £l I )
/ 9.
7 o
93. Find t'hé honzontal asymptote iPany, of the graph of the r3t|onal function. -4 _(, - 2
P X N
-8x+3 /i, EIsFZ ) X P, - =
f()d: Sx+4 : . g‘(, (( _l 3 B "")(\" é’
X—> o2 s X X—=le X <
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. 3
/ o T X
27 A. The horizontal asymptote is . -ty 5 -
c?( 2o e R
(Type an equation. Simplify your answer. Use integers or fracfions for any numbers in the (
equation.) ; /'m \
() B. There is no horizontal asymptote. . / e f )- N — J” 7
vy 1) - C_ Py - — )
. _‘Y_ »)_/{d__‘/l/__—-——’/ S r
Answer: A. The horizontal asymptote is == 5 '—':S‘_i
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('.\"5( Sgafhbec  Svisioa

a. Find the slant asymptote of the graph of the rational function and b_Use the" SIantasymptoteto graph the rational )
function. z i e e ,\4_ G2y v»y/’ﬁ
_x2+"_12 A y S @ x_,{ig L._/_

x=-7 | Z qC/ ’/L ‘

4\
a. Find the slant asymptote of the graph off Select the correct choice below and fill in any answer boxes within your
choice. )( S {_/ L /_/LW( b/ —i™ [J ] £ /wf/» /[/.», e
i L ) A~ — i ]
DA y= j 2N u) ~ (0) o)L ,;a_-h__f = e i
e S - =g
| ()~ 7

b. Use the slant asymptote to graph the rational function..- L) __M" L. J/I\:

{_) B. There is no slant asymptote.

1z
7

First determine the symmetry of the graph of f. SRS X »

; /ﬁ o taleespt ek G=o
) A. The graph has y-axis symmetry: f( - x) = f(x).

() B. The graph has origin symmetry: f(—x) = - f(x). C_) z )( - )(/ 7 L

() C. The graph has both y-axis and origin symmetry. "~ ) ﬂ_;_,—]_ B

() D. The graph has neither y-axis nor origin symmetry. 1 2 )
0 (x— )L < i (&AL

Find the y-intercept(s). Select the correct choice below and fill in any answer boxes within your choice.
C) X Cex—rt
) A. The y-intercept is : O~ {
(Type an integer or a S|mpl|f|ed fraction. Use a commato sepa te answegs) (?ﬁeeded )
() B. There is no y-intercept. l/' Y s A /(‘F (,/

Find the x-intercept(s). Select the correct choice below and fill in any answer boxes within your choice.

/(» 3,"’ 3 A= | -+ } df X f Q ¥ = 'Pﬁ'(/
) A. The x-intercept is g.,., /{/‘ ) H"“«_. d o
: :

(Type an integer or a simplified fractlon Useac

i) B. There is,no x-intercept. ,( —/ &4/_, ey - 3 0 At __9
/

Find the vertical asymptote(s). Select the correct choice below and fill'in any answér boxes within your choice.

fj) A. x=
(Type an integer ora simphﬁed fraction. Use a comma to separate answers as needed.)
(g ( Th@o vertical asymp_;ote A
Find the horizontal asymptote(s). Select the correct choice-below ﬂll inany answer boxes.within your ch0|ce /
|'"\\ _ S, “'-'/ ~ (. // g .
DA y= Q‘j{ X 1 X 7’) ( 7,) f//
(Type an integer or a simplified fraction. Use a comma 1o separate-answers-as neededj'_ &
(_) B. There is no horizontal asymptote. Vi j_{ / P 4L - Cc / »_( . | I

Plot points between and beyond each x-intercept and vertical asymptote then use the | lnformauon above to graph the
rational function. Choose the correct graph below. —
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D. The graph has neither y-axis nor origin symmetry.

12
7
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

A. The x-intercept is | ~4,3 .

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

A x= (Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

B. There is no horizontal asymptote.

A. The y-intercept is

ID: 3.5.85
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95. Graph the given function by making a table of coordinates.

f(x) = 4"

Complete the table of coordinates.

X -2 -1 0 1 2

y
(Type integers or fractions. Simplify your answers.)

Choose the correct graph below.

A O B.
y

2

1 X

4F 5 10 15

-2

./Q = £

Answers 1 ;( /

w® Aenc
1)

1

ID:4.1.11

— —— — i __I /
96. Find the domain of the logarithmic function. 74 '}V?A &

Cb//wm
/é// /U/ (//7’/”) \

f(x) = log (8 - x)

The domain of f(x) = log (8 = x) is |:|

(Type your answer in interval notation.) wl )
L s e b
= 4 0 / A Wi\t A
/)( — 0 7 a ' Vs a/.) v’f C)h %
ID: 4.2.77 | >
=t = o

41
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97. Use properties of logarithms to expand the logarithmic expression as much as possible. Evaluate logarithmic expressions
without using a calculator if possible.

h%{xq - z/ é/)/”'é@)g /( )=

4
z

Answer: 3log bx + !og bV 4 Iog bZ A./ : ---‘-;‘-\_\: >
'Lb_buéﬂ Mé@/j@é{/ﬁ) - —

98. Use properties of logarithms to expand the Ioganthmlc expression as much as possible. Evaluate logarithmic expressions

without using a calculator if possmle
713 ;(YVX/?/ é‘ﬂ’&ff‘?)g
n l:x Vx +7 } é‘_. 7 3
Jﬁ 6()+A40 “—%;&7Uf*

ID: 4.3.27

x+7)°

[

x+7)°

Answer: 1 2
71n X+E|n (x +7) -3In(x+7)

7, rM'”’t'-»
ID: 4.3.37 E

99. Solve the following exponential equation by expressing each side as a power of the same base and then equating
exponents.

i XV‘/ 1L
R / (
The solution set is Z v 7 e,
¥

Answer: 8 ,-Z -/ if L/K 7 ’(W/‘M
ID: 4.4.19 Z%’/f“’ Cf)( Y

o Z%#}f/i =7
Ly = —/6

X —Yx TYX —/ —YA

—2 )(’Z_——/é

"‘é_i(_ < Le

m . 7/17/2019, 10:16 AM

57 of 65



MA1314FIESTACOREQI14FIN0119jj-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

100. Solve the following exponential equation by taking the natural logarithm on both sides. Expres: th/olu nin term /of
natural logarithms. Then, use a calculator to obtain a decimal approximation for the solution: /(j Yo%

=612 2¢ X, I A )

What is the solution in terms of natural logarithms? g,<

Thesolutionsetis { | C) - 9’0 G

(Use a comma to separate answers as needed. Simplify your answer Use |nlegers or fractions for @

expression.) (C . / (;z l(/

What is the decimal approximation for the solulion‘? [ }/ 6/
The solution setis { ). (G

(Use a comma to separate answers as needed. Round to two decimal places as needed.)

Answers In 406 3)( ({/ /9/(/§/ R
3 )(' ép(‘?’dé/ Q Z WZ//77Z :
2.00 2)( (?K/a(/ QE_/

ID: 4.4.31 7794—(/ ‘@i f 2 0’\

KacA

101. Solve the exponential equatlon Express the solutlon in terms of natural logarithms. Then use a calculator to obtain a

decimal approximation for the solution. X’" L) d /
l‘y S )

g2 =317

What is the solution in terms of natural Ioganthms‘?‘(/ [) LH /}/ /éb /)/ ))
The solution set is .

(Use a comma to separate answers as needed. Simplify your answer. Use integérs or fr?lons for any numbers in the

expression.) ? 77
What is the decimal approximation for the solution?

éﬁ i f)
The solution set is {[:l}

(Use a comma to separate answers as needed. Round to two decimal places ﬁ‘:s needed.)

Answers In 317 {”—Z 2/ 7
o /// s 2( 3/7) ()

4.62 )(, Z 5/7
' ( / 5) i

ID: 4.4.37
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\
102. Solve the following logarithmic equation. Be sure to reject any value of x that is not in the’domain of the original
logarithmic expression. Give the exact answer. it &7
( ') [é ( .
- :

e

< JF =7

log ;x=4 e >

B

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
&

O A. The solution set is { } (Simplify your answer.) '
() B. There is no solution. 0/

T —
Answer: A, The solution set is . (Simplify your answer.) el

ID: 4.4.49

103. Solve the following logarithmic equation. Be sure to reject any value of x that is not in Qa, domain of t.'l"te original

logarithmic expression. Give the exact answer. ; ( ' —
log,(x+21)=3 _—— a e 77

Select the correct choice below and, if necessary, fill in the answer box to cgmplete your choice.

- P g

2 °= Xre)
O A. The solution set is { } (Type an integer or a simplified fraction.)
O B. There is no solution. VR X SR S

Y X~ |
Answer: A. The solution set is . (Type an integer or a simplified fraction.)
F—1 < {-//!f—//

ID: 4.4.55 & — 2 T ey

— \*-».

S——— — -

104. Solve the logarithmic equation. Be sure to reject any value of x that is not in the domain of the original logarithmic
expressions. Give an exact answer.

logsx+ log g(4x—1)=1 ;/0('(
MY/

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

() A. The solution set is { } (Type an exact answer in simplified form.)

() B. There is no solution.

Answer: A. The solution set is . (Type an exact answer in simplified form.)

&|o

ID: 4.4.67
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114. Solve the system by the addition me --Z)( l f)( /L
x+5y- -18 13 /T>( T 7 :_-_/_i / L {)/’(
3x + 2 Lo, 3 / 3 7 }
!j)(( o =2 G X?—'—““x
Select the correct choice below and fill in any answer boxes present in your choice. &
. Swbor —) =~/ 7
() A. The solution set is { } (Simplify your answer. Type an ordered pair.) )(’f S ‘7 / J
(O B. There are infinitely many solutions. (Z/ - 5“7 - »-’/ j
() €. There is no solution. Z —~ 9 = ,/);
o — e
Answer: A. The solution set is (Slmpllfy your answer. Type an ordel’éd paar)( - ‘/ I

Y T2

ID: 5.1.23 @\(7) (2 / %f_i | ‘3‘3 6 ;7\)

115. Solve the given system of equations.
x+y +5z2=10
X+y +9z2=18
x+3y+8z=22

Select the correct choice below and fill in any answer boxes within your choice.

3 A. There is one solution. The solution set is

{( , . )} (Simplify your answers.) , TT .
(0 B. There are infinitely many solutions. e {4/ /_CgLa s P4
() €. There is no solution. 3 /Ctﬁ )
24K
Answer: A,
There is one solution. The solution set is { (| -3 Il 3 ) 2 )} (Simplify your
answers.)

ID: 5.2.5 24//) /74’///74 é’J_/ Z/ﬂ 3)\/9// e le

/ S /o
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116. Write the first four terms of the sequence whose general term is given.

i 2n )
an=—5-

a;= :’ (Simplify your answer.)
a, = : (Simplify your answer.)
ag = ,:I (Simplify your answer.)

a= :l (Simplify your answer.)
— gﬁl—‘ 2. .—2 - gum—
Answers 1 q | - l’fg C,a -

G, = ¢ - _g) | |
¢ Z2¥< -/C‘ bis) F
C(')z = flﬁg— g -'3’7' - Z’;%/T C 17

2145 : '
Gy = ZH. _I /
) €5
ID: 8.1.9
. ot sy j,/o//j_,““‘i%'?_lh\\
Find the indicated sum. '('W‘—J< /‘S‘\MM('I g >
i=1

A
Zi(i+1)=|:](Simplifyyouranswer.) ) (7 Lf(?’ ) —
| (i) 20201 C3(3=1) 1 YO

(%) te(3) T 3(%) - /s )<
e 7 6 [2 - &oc
ID: 8.1.33 (’__9[_5\\

118. Uset@a;;nho expandgae binomial. £ 2. ____ ) ?_
P Se)l c(zw o Sl f@@)/d/?:

@2x-3)°

(2x- 3) l:l(&mpllfy your answer.)

WS s—cply 0
Q{CI’IAnswer 8x° - 36x2 +5(42 f(?}/%/ )/f(b (L()(],g) —('(j /Z)()(cf)ﬁp[ (Z’?}*
'“513///7%(3)(/ —M})/%()/ﬁ) +L)2X)ﬁ‘7)’f’0/ N
@7 —2¢x" T svx ——D
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ey
119. Write-th mee terms of the Binomial eﬁp/agsjon?expressing the result in simplified form.

The first three terms of the binomial expansion are |:]

(Simplify your answer.)

Answer: 5 4 45y + 810x°

ID: 8.5.31

s Geows CERIVT Gl
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